
Group - 11
Exhaust

011-100
Exhaust System

Group - 11 Exhaust
Illustration Title Group-Fig. No.

Exhaust System
Exhaust System .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .Fig. 11 - 105
Exhaust System .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . Fig. 11 - 110

2008 JK



Exhaust System
Figure 11-105

ITEM PART
NUMBER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION

Exhaust System

1 PIPE AND CONVERTER, Exhaust

52059930AG 1 J, U 72 EG0
1 J, T, U 74 EG0

2 CLAMP, Exhaust
55398182AA 1 J, U 72 EG0

1 J, T, U 74 EG0
3 PIPE, Exhaust Extension

52059938AH 1 J, T, U 74 EG0
52059939AF 1 U, J 72 EG0

4 ISOLATOR, Exhaust Support
52059929AA 4 J, U 72 EG0

4 J, T, U 74 EG0
5 CLAMP, Exhaust

55398182AA 1 J, U 72 EG0
1 J, T, U 74 EG0

6 MUFFLER AND TAILPIPE,
Exhaust

52059937AG 1 J, U 72

E0019446AA Dynomax Cat Back Single
Exhaust 2 Door

E0019445AA Dynomax Cat Back Dual Exhaust
2 Door

E0019456AA Dynomax Cat Back Single
Exhaust 4 Door

E0019457AA Dynomax Cat Back Dual Exhaust
4 Door

1 J, T, U 74

E0019446AA Dynomax Cat Back Single
Exhaust 2 Door

E0019445AA Dynomax Cat Back Dual Exhaust
2 Door

E0019456AA Dynomax Cat Back Single
Exhaust 4 Door

E0019457AA Dynomax Cat Back Dual Exhaust
4 Door

7 SHIELD, Heat
55395947AA 1 J, U 72 EG0 Front

1 J, T, U 74 EG0 Front

8 SHIELD, Heat

WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P = PREMIUM
S = SPORT
M = MEDIUM
L = LOWLINE

T = JEEP - 2WD
J = JEEP - 4WD
U = JEEP - 4WD (RHD)

72 = SPORT UTILITY 2-DR
TYPE #2
74 = SPORT UTILITY 4-DR
TYPE #4

EGT = 3.8L V6 SMPI Engine
ENS = 2.8L 4 Cyl TD Next
Generation Engine

DEH = 6-Speed Manual NSG370
Transmission
DGV = 4-Spd. Automatic VLP 42RLE
Trans
DGQ = 5-Spd Automatic 545RFE
Transmission

AR = use ase required - = Non illustrrated part 2008 JK

<< RETURN TO GROUP INDEX



Exhaust System
Figure 11-105

ITEM PART
NUMBER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION

55395955AA 1 J, U 72 Rear

1 J, T, U 74 Rear

9 SCREW AND WASHER, Hex
Head, M10x1.5x50

06102172AA 4 J, U 72 EG0
4 J, T, U 74 EG0

10 LOCK NUT, M10-1.50
06508305AA 4 J, U 72 EG0

4 J, T, U 74 EG0

WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P = PREMIUM
S = SPORT
M = MEDIUM
L = LOWLINE

T = JEEP - 2WD
J = JEEP - 4WD
U = JEEP - 4WD (RHD)

72 = SPORT UTILITY 2-DR
TYPE #2
74 = SPORT UTILITY 4-DR
TYPE #4

EGT = 3.8L V6 SMPI Engine
ENS = 2.8L 4 Cyl TD Next
Generation Engine

DEH = 6-Speed Manual NSG370
Transmission
DGV = 4-Spd. Automatic VLP 42RLE
Trans
DGQ = 5-Spd Automatic 545RFE
Transmission

AR = use ase required - = Non illustrrated part 2008 JK

<< RETURN TO GROUP INDEX



Exhaust System
Figure 11-110

ITEM PART
NUMBER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION

Exhaust System

1 CONVERTER, Exhaust, Catalytic
68024804AB 1 J, U 72 EN0 [-XD4]

1 J, T, U 74 EN0 [-XD4]

-2 06104716AA 4 J, T, U 72, 74 EN0 NUT, Hex Flange Lock, M8X1.25,
Converter to Manifold Mounting

3 PIPE, Exhaust Extension

68024789AA 1 J, U 72 EN0 [-XD4]

1 J, T, U 74 EN0 [-XD4]

68024796AA 1 J, U 72 EN0 [XD4]

1 J, T, U 74 EN0 [XD4]

4 FILTER ASSY, DIESEL
PARTICULATE

68024805AB 1 J, U 72 EN0

1 J, T, U 74 EN0
5 MUFFLER AND TAILPIPE,

Exhaust
52059937AG 1 J, U 72

E0019446AA Dynomax Cat Back Single
Exhaust 2 Door

E0019445AA Dynomax Cat Back Dual Exhaust
2 Door

E0019456AA Dynomax Cat Back Single
Exhaust 4 Door

E0019457AA Dynomax Cat Back Dual Exhaust
4 Door

1 J, T, U 74

E0019446AA Dynomax Cat Back Single
Exhaust 2 Door

E0019445AA Dynomax Cat Back Dual Exhaust
2 Door

E0019456AA Dynomax Cat Back Single
Exhaust 4 Door

E0019457AA Dynomax Cat Back Dual Exhaust
4 Door

6 PIPE, Exhaust Extension

52126320AC 1 J, T, U 74 EN0

52126321AC 1 J, U 72 EN0
7 ISOLATOR, Exhaust Support

52059929AA 5 J, U 72 EN0
5 J, T, U 74 EN0

WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P = PREMIUM
S = SPORT
M = MEDIUM
L = LOWLINE

T = JEEP - 2WD
J = JEEP - 4WD
U = JEEP - 4WD (RHD)

72 = SPORT UTILITY 2-DR
TYPE #2
74 = SPORT UTILITY 4-DR
TYPE #4

EGT = 3.8L V6 SMPI Engine
ENS = 2.8L 4 Cyl TD Next
Generation Engine

DEH = 6-Speed Manual NSG370
Transmission
DGV = 4-Spd. Automatic VLP 42RLE
Trans
DGQ = 5-Spd Automatic 545RFE
Transmission

AR = use ase required - = Non illustrrated part 2008 JK

<< RETURN TO GROUP INDEX



Exhaust System
Figure 11-110

ITEM PART
NUMBER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION

8 5 CLAMP, Exhaust, (NOT
SERVICED)

9 BOLT
06105064AA 2 J, U 72 EN0

2 J, T, U 74 EN0

10 06104717AA 4 J, T, U 72, 74 NUT, Hex Flange Lock, M10x1.50

WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P = PREMIUM
S = SPORT
M = MEDIUM
L = LOWLINE

T = JEEP - 2WD
J = JEEP - 4WD
U = JEEP - 4WD (RHD)

72 = SPORT UTILITY 2-DR
TYPE #2
74 = SPORT UTILITY 4-DR
TYPE #4

EGT = 3.8L V6 SMPI Engine
ENS = 2.8L 4 Cyl TD Next
Generation Engine

DEH = 6-Speed Manual NSG370
Transmission
DGV = 4-Spd. Automatic VLP 42RLE
Trans
DGQ = 5-Spd Automatic 545RFE
Transmission

AR = use ase required - = Non illustrrated part 2008 JK

<< RETURN TO GROUP INDEX


